Extended Data Table 5-2
	Model
	Effect
	Estimate
	95% CI
	p
	Random effect STD

	
	
	
	LB
	UB
	
	

	CP PROB/AMNT = 0.75/1
	Intercept
	0.53
	0.38
	0.68
	< .001
	0.19

	
	Slope
	2.45
	1.30
	3.59
	< .001
	2.26

	
	
	
	
	
	
	

	CP PROB/AMNT = 0.75/2.5
	Intercept
	0.67
	0.44
	0.89
	< .001
	0.41

	
	Slope
	3.02
	1.45
	4.59
	< .001
	3.21

	
	
	
	
	
	
	

	CP PROB/AMNT = 0.75/5
	Intercept
	0.97
	0.64
	1.31
	< .001
	0.67

	
	Slope
	2.93
	1.42
	4.43
	< .001
	2.93

	
	
	
	
	
	
	

	CP PROB/AMNT = 0.75/7.5
	Intercept
	1.16
	0.79
	1.53
	< .001
	0.71

	
	Slope
	2.63
	1.25
	4.01
	< .001
	2.65

	
	
	
	
	
	
	

	CP PROB/AMNT = 0.75/9
	Intercept
	1.03
	0.69
	1.38
	< .001
	0.63

	
	Slope
	4.03
	1.88
	6.17
	< .001
	4.37

	
	
	
	
	
	
	

	CP PROB/AMNT = 0. 5/7.5
	Intercept
	0.33
	0.13
	0.53
	.001
	0.33

	
	Slope
	3.32
	1.50
	5.13
	< .001
	3.83

	
	
	
	
	
	
	

	CP PROB/AMNT = 0. 5/9
	Intercept
	0.38
	0.21
	0.56
	< .001
	0.23

	
	Slope
	3.31
	1.69
	4.93
	< .001
	3.35

	
	
	
	
	
	
	

	CP right target PROB/AMNT = 0. 5/5
	Intercept
	0.35
	−0.04
	0.75
	.08
	0.75

	
	Slope
	2.37
	0.80
	3.94
	.003
	2.75
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